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Thunder shower










_S.,

sha chén bao

Sand storm
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1.Comparative Sentences with Lt.(bi)

Specific comparison of two entities is usually expressed with the basic pattern

A+ Lt (bi)+B+Ad]

1.2 bt ] &
li yOu bi ta da jié gao.
Li You is taller than her oldest sister.
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1.Comparative Sentences with Lt.(bi)

Specific comparison of two entities is usually expressed with the basic pattern

A+ Lt (bi)+B+Ad]

2.4 REMERN,
jin tian bi zuo tian léng.
Today is colder than yesterday.



1.Comparative Sentences with Lt (bi)
Specific comparison of two entities is usually expressed with the basic pattern
A+Lt.(bi)+B+Ad]
3. E T IRNEEALEENRNEESR S
di shi ke de yu 3 bi di jiti k& de yui f3 réng vi.
Lesson Ten's grammar is easier than Lesson Nine's grammar.
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Grammar

Grammar
1. Topic-Comment Sentences

1. Comparative Sentences with F& i) (1)



1.Comparative Sentences with E(bi)

Specific comparison of two entities is usually expressed with the basic pattern

A+LE(bY)+B+Adj+— i JL/F52 /2% T (yi didnr /de dud /dud le )

4.4 RHVER B — K,
jin tian bi zuo tian léng yi dian.
Today is a bit colder than yesterday.

SRIVER— S JLEB. (X)

jin tian bi zud tian yi dianr léng.



1.Comparative Sentences with E(bi)

Specific comparison of two entities is usually expressed with the basic pattern

A+LE(bY)+B+Adj+— i JL/F52 /2% T (yi didnr /de dud /dud le )

5.HREHAS RMTG4.
ming tian hui bi jin tian léng de duo.
Tomorrow will be much colder than today.



1.Comparative Sentences with Lt.(bi)

Specific comparison of two entities is usually expressed with the basic pattern

A+LE(bi)+B+Adj+— il JL/F52% /2% T (yi didn ér /de dud /dud le)
6. ANLXILISZ T /hE%,

niu yué bi zhér Iéng duo le /lIéng de duo.
New York is much colder than here.

Ai R 5 A2



1.Comparative Sentences with Lt.(bi)

Specific comparison of two entities is usually expressed with the basic pattern

A+LE(bi)+B+Adj+— i JL/F52% /%% T (yi didn ér /de dud /dud le)
6. AN X ILInZ T /154,

nit yué bi zhér léng duo le /Iéng de duo.
New York is much colder than here.

Note that the modifying expression must be placed after the adjective, not before it.

AALEIX LIRS (X)

niu yué bi zher hén léng.

“Much colder” is 17152 (Iéng de dud) or #5321 (I8ng dud le), not 1R#5(hén 1&ng) very
cold).



1.Comparative Sentences with Lt.(bi)

by adding the adverb 5 (géng) or the adverb 3 (hai) in front of the adjective.
A+Lt(bi)+B+ 5 /3k (géng /hdi)+Ad]

7.0E R, A RHEMERER/S REVERES,
zuod tian léng, jin tian bi zud tian géng lIéng /jin tian bi zud tian hai léng.
Yesterday was cold. Today is even colder than yesterday.



1.Comparative Sentences with Lt.(bi)

IR (gén) and FA(hé) can be used in another type of comparative sentence;
AIR/FIB(R) —1£+Adj(A gén/hé B (bu) yi yang+Adj

However, unlike a comparative sentence with Eti(bi), a comparative sentence with
IE(gén) or f(hé) only indicates whether two things or persons exhibit the same
degree of an attribute, without specifying which of the two exhibits it to a greater or

lesser degree.
Compare (8a) with (8b) and (8c) with (8d).



1.Comparative Sentences with Lt.(bi)

IE(gén) and #(hé) can be used in another type of comparative sentence;
AIR/FIB(R) —1£+Adj(A gén/hé B (bu) yi yang+Adj
8. a XNMNHENBNMNEE—FF K,

zhe ge jiao shi hé na ge jiao shi yi yang da.
This classroom and that classroom are the same size.

40M?




1.Comparative Sentences with Lt.(bi)

IE(gén) and #(hé) can be used in another type of comparative sentence;
AIR/FIB(R) —1£+Adj(A gén/hé B (bu) yi yang+Adj
8. b XNHERAMNAELS—F K,

zhe ge jiao shi gén na ge jiao shi bu yi yang da.
This classroom and that classroom are not the same size.

¢ XPMHAELLABNEE Ko
zhe ge jiao shi bi na ge jiao shi da.
This classroom is larger than that classroom.

d INHELLBNINAEKREZ,
zhe ge jiao shi bi na ge jiao shi da de duo.
This classroom is much larger than that classroom.

30M°
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hua bing

MEDV/

to ice skate - £




hua xueé




gang cai

NI =

just now
a moment ago




wang shang

1

on the internet




vue

)

to make an appointment







3.The Modal Verb Z=(hui ,will)(ll)

4>(hui) indicates an anticipated event or action.

1. HEMAEREDLE , IRMAXSE,
bai lao shi xian zai bu zai ban gong shi, ke shi ta ming tian hui zai.
Teacher Bai is not in the office now, but he will be tomorrow.

2. A REAEAGH A ?
ni ming nidn zuo shén me
What will you do next year?

B : FIIFSEIEHFIL,
wO ming nian hui qu ying guod xué ying weén.
I'll go to Britain to learn English next year.




3.The Modal Verb Z=(hui ,will)(ll)

->(hui) indicates an anticipated event or action.

3. i LR E 2GR IREIEE.
ta shuo ta wan shang hui géi ni fa duan xin.
He said he will send you a text message this evening.



3.The Modal Verb == (hui ,will)(11)

The nagative form of Z=(hui) is 1~ (bu hui)

4. /NERBAER , SKEARXKBIKT
Xiao wang jué de bu shu fu, jin tian bu hui [ai hua bing le.
Little Wang is not feeling well, He won 't come ice skating today after all.

5. X JLRAFIIC , BEF2EREF RS

ta zhe ji tian te bié mang, wan shang bu hui qu ting yin yue hui.
She is very busy these days, She won 't be going to the concert tonight.

6. RAFMMRXNMNEARFT2TE,
tian gi yu bao shuo zhe ge zhou mo bu hui xia xué.
The weather forecast says that it won 't snow this weekend.



geng

:Ei?: evemore

even more



dise;
small plate;
dish,saucer




i (dié) means a small plate or something that resembles

a small plate. It is now often used to refer to DVDs. The

phrase & & (kan dié) thus means to watch a movie or TV

series on DVD.
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ban

7

to handle
todo



B (bu dan)..., 1 H.(ér qid)...(not only..., but also...)

In a sentence with the A~ {H.(ba dan)..., I H.(ér qié)...(not only..., but
also...) structure, the conjunction 1 H.(ér qié) in the second clause is
generally required , while the conjunction A~{H.(bd dan) in the first clause

is optional.

AR KRS KEL, MEASTE, A SEM—R)L,
ming tian tian qi bi jin tian geng hao, bu dan bu hui xia xué , ér gié
hui nuan huo yi dianr.

Tomorrow s weather will be even better than today. Not only will it
not snow, it'll be a bit warmer, too.



2 The Particle T (le) (Ill): T as a Sentence-Final Partice

When | (le) occurs at the end of a sentence, it usually indicates a
change of status or the realization of a new situation.

1. FE T,
Xia xue le.
It's snowing now.

2. BRIREA T

mei mei lei le.
My sister has become tired.



2 The Particle T (le) (Ill): T as a Sentence-Final Partice

When | (le) occurs at the end of a sentence, it usually indicates a
change of status or the realization of a new situation.

3. FRERERZEIL, S RAZEILT,

WO zuo tian méi you kongr, jin tian you kongr le.
| didn 't have time yesterday, but | do today.

4.8, DNIRERT,
ni kan, gong gong qi ché lai le.
Look, the bus is here.



2 The Particle T (le) (Ill): T as a Sentence-Final Partice

When used in this sense, | (le) can still be used at the end of a sentence
even if the sentence is in the negative.

5. REA®RT , TR T,
wO méi you gian le, bu mai le.
| don't have any money [left]. | won't buy it anymore.

Remember that to negate £ (you, to have), one uses % (méi), not 1~ (bu).



4. Adj +(—) 5L JL((yi ) dianr)

The expression (—) &L JL((yi) didnr) can be placed after an adjective to indicate slight
qualification. —(y1) is optional.

LADLRFBEAEN , EREZBHZR/RE , REXRILT,

gian ji tian wo hén bu gao xing , zud tian kao shi kao de hén hao, wo
gao xing dianr le.

| was very unhappy a few days ago. | did very well on the exam yesterday.

2. FRIRIR Fe P Al A = — a5 L

wO mei mei bi wo jié jie gao yi dianr.
My younger sister is a bit taller than my older sister.

BARGREEBAH I — L (X)

woO mei mei bi wo jié jie yi dianr gao .



4. Adj +(—) 5L JL((yi ) dianr)

The expression (—) &L JL((yi) didnr) can be placed after an adjective to indicate slight
qualification. —(y1) is optional.

3MRFFRRIL, FRRER 1,
ni déi kuai dianr, kan dian ying yao wan le.
You d better pick up the pace a bit, or you |l be late for the movie.



4. Adj +(—) AL JL((yi) didnr)
The expression (—) i JL((yi) didnr) can be placed after an adjective to indicate slight
qualification. —(y1) is optional.
4. 5 REWVER M AL,
jin tian bi zud tian léng dianr.
Today is a bit colder than yesterday.

S RIVER—Hm,  (X)

jin tian bi zud tian yi dianr léng.

5. 20 , TR IFEHEE —K< L.
lao shi, ging nin shuo hua shuo de man yi dianr.
Teacher, would you please speak a little hit more slowly?

2, FREFRE—KRILE. (X
|lao shi, ging nin shuo hua shuo de man yi dianr.
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